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PART -1

: ; the
During the process of Internal Reconstruction, JAY Ltd has come across

following adjustment :
_ de. This
There is a contingent liability for which no provision had been mace
: from
contingent liability was settled at ¥ 7,500 and also ¥ 6,000 was recovered

the insurance company in this regard.
: it 7
Which of the foll.nwmg is the correct treatment for the above adjustment !

(A ) Re&nstrucnon A/c Dr 7,500 and Bank Afc Cr T 7,500

omplete pdf available Ergégyodycaller App

B) Reconstructlon AJe DrZ 1,500 and Bank Afc
and Bank A/c Cr T 1 500

oG
L

3 (C) Contingent Liability A/c Dr ¥ 1,500
(D) Profit and Loss A/e Dr¥ 1,500 and Bank AJc Cr 71,500

Past Ltd. had the following items under the head “Reserves and Surplus™ in

the Balance Sheet as on 31% March 2025 :

(Amount ¥ in lakhs)
Securities Premium Account 90
Capitétl Reserve * 40 L_
Revaluation Rcsewe | 10 _

KCE1
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The company had an accumulated loss of Z 280 lakhs on the same date, which

was disclosed under the head “Statement of Profit and Loss” as asset in ifs
Balance Sheet. What should be disclosed on the face of Balance Sheet as pér

Schedule III to the Companies Act, 20-13 T

(A) Reserve and Surplus - ¥ 200 lakhs; and Accumulated loss 7 280 lakhs in
the Asset side.
(B) Reserve and Surplus - Sec@ritics_ pr_émiu:ﬁ;? 90 lakhs; others ¥ 110 lakhs

and Accumulatéd loss'f 280 Iakhs in the Asset side.

(@M@@Wﬁ%@ﬂﬁﬁ@% Studycalle-rApp &

(D) Reserve and Surplus ~ (? 80) lakhs unly

Case Scenario—1:
Gray Ltd is engaged in the business of coustructmg towers since 15 years. Alpha

Ltd gave a contract to Gray Ltd for constmcnou of 2 towers.

Conlract price for 2 towers is agreed at ¥ 160 crore. (each tower has contract price 4

: -of 80 crore)
'. A’t the tunc of contract, Gray Ltd has estimated that the contract cost wﬂl be T 141

|3 &
El
A

Crore R rs assumed that construction will be completed in 3 years.

A,t the end of year 1, Gray Ltd has revised the construction cost to ¥ 150 crore. ; a

KCE1
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e
begmnmg of year 2, the customer ‘has requested for a variation m the

COntract
Custcmarﬂﬂuﬁvt wants construction of 3 towers instead of 2 towers. The
tcrm Gfthe

_céntr’f!‘f?'e}'!ll- not change, construction of all the towers will be completed .

'ﬂ
.fjd ateﬁféfﬁ'] §tm§§/c3"3r iﬂ\pp
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' 17
t to be reco gnized at the end of Year

4. What is the amount of the profi
(A) T 44.75 crore
(B) ¥ 2.35crore
(© T 4.75 crore

(D) T 21 crore

5. Whatis the amount of contract revenue recognized in each year oficcatiacty

(Q{) Year 1 - T 40 crore : Year 2 : T 116 crore and Year 3 : T 84 crore

(B) Year1:% 80 crore, Year 2 : T 80 crore and Year 3 : T SD crore
© GRIMPEIRokier A 1 20IR 40 ol ARl R AN bre

(D) Year 1 :%37.60 crore, Year 2 : ¥ 120.80 crore and Year 3 : T 81.60 cror;e

6. ABC Ltd,, is in the business of creating contents for various OTT platforms.

The company has developed a techmcal know-how (the asset) by mcumng

expenditure of ?‘ 25 ]akhs The company started using the asset from 15t April

2019. The management of the company is of the view that the asset has

infinite hfenme and therefore has not amornzed the asset till date

at should be the total amortization amount (including current a5 well as the b

previous 1
years amortization) to be charged to Profit and loss account for the :

year ended Ma;ch’ﬁl %2024, with reference to AS 26 2
a . ‘ .

KCEII
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&) X 2s lakhg a5

_@ﬁ » Nil, ag PEr the management

manag&ment_ IS Correct,

©) 2125 lakhs (iricluding current year’s amortization of T 2.5 lakhs) to be'
charged g Profit ang 1osg Account,
D75 lakhs (including ¢

\rrent year’s amortization of ¥ 2.5 lakhs) to be
chargeq o Profit ang Lﬁss.aécnunt. : i

the know how is an intangible asset as per AS 26,

the know how has inf’mii_é life and the

X Ltd. hﬁ-elﬂﬁ‘-ﬁd iﬁtﬁ_a hindiﬁg dgreement with Beta [.td.
-~ ™Made machine fo; 7 2 lakhs. During the year 202425 x [ 1
method of production due to changes ip market trend, B < liy, of
the@ashinpbete: vailahle muétiudyﬁfﬁﬁé‘l* Kppy
- Oshpeia poldely tMged its method

1ts method of production and the new

to buy a custom-

has to change its

metﬁoﬂ will not 'requirg. the maéhine'or_ﬁergd. Now the éompany decides to
| after d : é}'&]:'} value is Z 25_,000.l Machine was
October, 2024 and was scrapped on 5t Octobei-,. 2d24. The
. cnrg.ect_,accountiiig treatment for abnv_e_maghine in the year

A) ImpalrmentA!c to be debited with T

1.75 lakhs and B
~ credited with T 1,75 lakhs, AL

ank A/c to be

3
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Case Scenario - IJ :

Heal S '
th India Limited (HIL), incorporated under the The Companies Act, 2013, is

engaged in the production and distribution of medicines. It has manufacturing plants

at Baddi (Himachal Pradesh) and Bhopal (Madhya Pradesh). It also imports

medicines from Pharma Inc. New York (United States).

On 1% Jan 2024, HIL sold 2,00,000 strips of Medicine to Dee Limited for T 50
Lakhs on 60 days of credit. Cost per strip of this medicine, was T 20. (i.e.) total cost
£ 40 Lakhs (2,00,000 strips@¥ 20). Dee Ltd paid 20% of the amount due on 5

Jamuary, 2024. In March 2024, Dee Limited is having significant cash flow issues

and is trymg. ise fun ou oan to 1ts nper owever, it is
s BRE S SEATEEIE S Bliayca oF pp
unable to do so and not able to release payment to HIL on due date. Subsequent to

this, it has gone under liquidation on 15% March, 2024. At the time when medicine

' was sold by HIL to Dee Limited, there was no reason for HIL to believe that it will

not be able to collect the sales proceeds from Dee Limited in future.

On 1* April,2023 HIL has made an inveqﬁnent of ¥ 200 Lakhs in the equity shares

T

ool :
of Rose Limited of which 50% is made in ﬁle Jong-term catc%ory i.e. long -term
1o

investment and rest as temporary invesnnent i.e. current investment. The realisable

value of all such investments on 31% March, 2024 bemmes Z 50 Lakhs as Rﬂsa_

Iﬁ*'ﬂl’,ﬁfﬁd lost a copyright, From the given market conditions, it i ﬂDPﬂaﬂt that the

reduction in the value of investment is not temporary in nature.

o} RIEL "Ji: i
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o1t 1 0,000 o
HIL im ' n
IL i ported medicine from Pharma Inc. for a sum of US $ 2,50, :

2074 a : dicine Ltd.
1 January, 20247 gy released full payment on 17* April, 2024 to Me

The e_xchﬁnge rates are as follows -

Exchange rate per $
1 April, 2023 _ 276
1% January, 2024 g : : T 81
r3-15‘-Marc.h, 2024 | %80

178 A@mﬁqqalétgipqﬂa_vai_labla in Studycaller App

e e : : to
Ak on a strategic pla the production unit of Bhopal due
is working on egic plan to close
HIL is work g_.:P.I}_ et .
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Based on the information given in the aboye Case Scenario, answer the following
Question No, 8 - 17 -

; ’ i fi |
8. What would be the date of “initial disclosure of event” be considered for :
Bhopal Plant 7 | 2

(A) 1% March, 2024
(®)) 310 March, 2024
(©)  21% April, 2024
(D) 10" March, 2024

How the recognition of revenue from sales of medleme 10 Dee Limited wil] be

lone np]y TE 1A fSHASSR 2l bt vt B G b sed

amount fer the year ended 31 March, 2024 2

(A) Revenue will be recognised for ¥ 40 Lakhs, subsequently unrealised

amount ¥ 40 Jakhs will be debited to bad debts A/c.

(B) Revenue will be recognised for ¥ 50 Lakhs, - subsequently unreauged

amount ¥ 50 lakhs will be deb1ted to bad debts A/c.

@ Revenue will be recognised for T 50" Lakhs, subsequenty unrealiseq
amount T 40 lakhs will be deb:ted to bad debts A/c.

(D) RcVenug will be recognlsed f‘or ¥ 40 Lakhs, unrealised amount of 7 4
a_khs w:ll be shown in Sundry Debtors s,

KCE1
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How will you recognise, the reduction in the value of the investments in the financial

statements for the year ended 31* March 2024 as per AS 13 (Revised) ?

(A)  The reduction of ¥ 75 Lakhs in the cacrying value of current investment

will be charged to the profit and loss account. There will be no impact on
the value of long-term investments, .
(B) The reduction of T 50 Lakhs in the carrying value of current investment
' will be charged td the profit and loss account. There will be no impact on

the value of long-term investments.

©

The reduction of Z 75 Lakhs in the carrying value of current investment
will be charged to the: profit and loss account. The reduction of X 75

Lakhs in the carrying value of long-term investment will also be charged
to the profit and loss account.

Complete pdf avallable in Studycaller Ap
@) The reduction of X 75 Lakhs in the carrying value of current’idvestment

will be charged to the profit and loss account. The reduction of I 75

Lakhs in the carrymg value of long-term investment wﬂl also be charged
10 cap1ta1 reserve account.

Ascertain the’ loss/gain due to change iri foreign exchange rates to be

‘recognised in the financial statements for the year ended 31* March, 2024 as

per AS 11.

(A) % 5,00,000 Exchange gain should be credited to profit and loss account.

@ 7 250,000 Exchange gain should be credited to profit and loss account.

(@)X 00,000 Exchange loss should be debited to profit and loss account.

D) T2 50,000 Exchﬁnge Joss should be debited to profit and loss account.

KCE1
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2. X Ltd sold Plant & Machinery having WDV of 60 60 lakhs to Y Ltd. for 2 75
lakhs (Fair value of % 75 Lakhs) and the same plant was leased back by Y Ld.

to X Ltd. The lease back is in the nature of operating lease, The treatment will
be: FU=gy

09 X Ltd. should recognize the Profit of ¥ 15 lakhs immediately.

(B) X Ltd. should amortize the profit of Z 15 lakhs over the lease term.l

() No profit/loss, as fair value is eqﬁﬁl to sale price.

@) Y Ltd. should recognize the profit of Z 15 lakhs immediately.

Case Scenario —III :

Following m&: fﬂ ést%\'ﬁiclﬁv %{,}gﬂfgﬁ g l}ﬁr@ﬂ}i’ﬁ ycaller 'Ap P

| . T in lakhs
Share Capital
Equity .sha:ejs-' of ?. 10 each fully paid up | | | 800
11% Redeemablé Prefere;ﬁ;;é.'-shares of T 100 each fully paid | 200
up Eo
Reservciand surplus
Capltal redemptlon Reserye i | 50
i Secunncs Premtum ; | e 10018
4 %)%}}; ; aGepera] Rﬁsenre and pmﬁt and Loss (Cnrr;bmed balance) 600

_._'..-,.
=%

KCE1




1 To finance Redemptlen of preference shares and buy back

futh hae decided to sell jts mvestmente for ¥ 98 Lakhs.

Wiy Ltd had 80 000 Equity stock
J quity options qutstanding o, the aboy
o date, 10 the empluyees T 15 er share
dp @ P when the Market pnce
ehe.re ('r}us was included under the head current habntmes)

s 2024 70% gfthe emplt)yees exereused their options,

(13)
Wi
= ‘I /KCE1
Secuted ’},bﬂm o
A e
o 259
: Current.Lia‘eiIiﬁes 10
| Fixed Assets 1200
| Imvestments 95
Cashatbank
W v
Other Current Assets
i . | 840
- On 1 April 2024 z Lid reds
. redeemed all i
ol -&GD med all its preference shares at a prémium of

".";_-Cemplete pdf available in Studycaller App

Z Ltd b
ought back 8 00 ,000 ¢ eqmty shares @ T 20 per share, = 2L
g1,

ava:lable balance in bank accotmt i e

of shares, company

Pl 3

(S mentioned
Was T 20 per

On 1% Apri,
quduu~
89P0 veg
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